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ior oach set of numbers decided if it is closed or not for cach operation. If you say
Vis not closed, provide a counter example to prove your answer.

1. The natural numbers are closed under... )
Closed Operation Counter-example if you said it is not closed
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2. The integers are closed under...
Closed Operation Counter-example if you said it is not closed
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3. The rational numbers are closed under...

Closed Operation Counter-example if you said 1t 1s not closed
Addition

Subtraction

Multiplication

Division

[déntify the set(s) to which each of the following numbers belongs by marking an
“x" in the appropriate boxes. Remember it may belong to more than 1 set.
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